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Is this Group for Examiner? : No
Botany

SectionId: 81356136

Section Number : 1

Mandatory or Optional : Mandatory

Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes

Question Number : 1 Question Id : 8135611761 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the wrongly matched pair among the following.

S08 T°&” DB 57 S Botdod.

Options:

Root Knot — Meloidegyne
. % DB LWy ~ UPANET

Late blight of potato — Alternaria solani

5 o 2OTTY™ (00 €550 Brew — 303 das- Jerd

Black rust of wheat — Pucciniagraminis

. B 600 30 Sren — HE\aTradID
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AP EAMCET 2020

Loose smut of Wheat — Ustilago nuda

4w DGO20 Seven STens Srben — AT

Question Number : 2 Question Id : 8135611762 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Colchicine checks

?03335 QOB

Options:
Formation of spindle

- SoC DBSCo Ddbdc.‘.n

Replication of proteins
, x OOD 0 DAGS

Replication of DNA
3 % G DAES

Replication of centrioles

4 % PoSAIrS DA

Question Number : 3 Question Id : 8135611763 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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AP EAMCET 2020

Identify the correct statement regarding ecological succession

1) Primary succession takes longer than secondary succession
2) Both hydrarch and xerarch successions proceed to similar climax community

3) Pioneers in secondary hydrarch succession are invariably phytoplankton

4) As succession proceeds the number and type of animals and decomposers change due to
change 1n vegetational change

D096 ORS00 DotioBot) SoBT NS’ 2B 5N g.ﬁaa’:}l (Botiod.
1) BB S50 S0t FrES BRVFINN AL S DAL D)
2) B0 §050 B0 BT 5050 Botir w8 Lrot) YEL GBI VoATVL BEH
3) B0 20 &7 S8 & FoFey AW :gdmam & DI

4) 208030 o] £BAK G50 BOD YD) SEVE” Srddy H)E VeVES” A6\
L)y BROER BANDLI)

Options:
1

1. %

(B

J

3.V

Question Number : 4 Question Id : 8135611764 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following is an incorrect property of hydroponic plant production?

ETE 208 G313 HIAVL Vowolol) SoBTIS’ VBT B8} LW DA?

Options:
Essential elements were identified

_ BOI(S QTVSTVAD (DOoto

Deficiency symptoms were not discovered

5 P e5°D LN SN IS

Adequate aeration gives optimum growth

3 % SND0S T0HD DG TE(T° CINEH DAMAEV SO

Soil less culture

| 20,88 6P 3GRB0
4. %

Question Number : 5 Question Id : 8135611765 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The stored food in Rhodophyceae 1s

EEDD &° Doy &6 Dogrew

Options:
Starch

Dot DTG
1. % .

Mannitol
2 ® SI° eTeed
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Floridian starch

, . Fodows 6,

Laminarin

4 % DT80

Question Number : 6 Question Id : 8135611766 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following 1s an advantage of apomictic seeds?

S08T°S" R B STV DATBT) DBotsol..

Options:
Can be produced every year
% T ‘a'bnsﬁébdm.) Ee‘_ﬁb@ (DA

No segregation of characters

> VLT DASC Woldey)

Formation of many embryos
IRLISER LI VRVC NS

Do not maintains hybrid characters
 0oS6E VLTV A6 Totd)

Question Number : 7 Question Id : 8135611767 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

On imbibition, pea seeds swell more compared to that of wheat seeds because they contain

08’ Hcodd DT Soff wored DIen HBAre0s’ G 0e) TG0 B 687

Options:

Protemn

1 v TS

Carbohydrate

oG DEEGAD
B ™ -

Lipids

;w058

Starch

36y

4, % ©

AP EAMCET 2020

Question Number : 8 Question Id : 8135611768 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

AP EAMCET 2020

a. GLUT-4

Sensory reception (Smell, taste. hormone etc)

b. Collagen

11.

Enables Glucose transport

¢. Antibody

11,

Fight with infectious agent

d. Receptor 1v.  Intercellular ground substance
SoQT* AN 2ADGTIEN

a. GLUT-4 i RoBob dire 38

b. §orad i. Ar&8 oo

C. 2BOLSAW L. RS STESTVA JWE) A

d.  eDrrsaw V. Strodd Domros :'Jw’gm
Options:

x @=1D), (i), (c—iii), (d—iv)

5 o =1 b=iv), (c~m), @—1)

; x (@—ii), (b—iv), (c—1i), (d—iii

4. ® (a—1i), (b—iii), (c—iv), (d—ii)

Question Number : 9 Question Id : 8135611769 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Bulbil is found in which of the following pairs?

208 T°e5° VLVORTDAD (O 2 DA?
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Options:
Onion & Garlic
&9 Hodasin dend

Agave & Onion
T Sudasn &

Dioscorea & Onion
, a0 808> Sodosn &P

Agave & Dioscorea

T SBA3W c:‘.mﬁ“gjaoir
4.

Question Number : 10 Question Id : 8135611770 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Spraying which of the following hormones increases the sugarcanes yield?

208 TOS" D HFE) A D) Satue 0 BELE” BBS Brdewd BENW?

Options:
1 « GA3

, x IAA

3 % C2H4

4 % ABA
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Question Number : 11 Question Id : 8135611771 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The difference between spore productions of Penicillium and Rhizopus respectively are

2\dako 280k EDR © Sl D2 G Bo0S” Srren HERIT

Options:
Conidia & Sporangia

A0k Sodosw G Dargosren
1.

Sporangia & Zoospores

" ﬂag D H0ITRD SDOAID (D fbg Daren
, e

Comidia & Zoospores

y AT 20803 (209 DG Darew
. -

Sporophyll & Conidia

Sl DerHaD DA 8ok EEAST
4. %

Question Number : 12 Question Id : 8135611772 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The nuclear pores are the passages for which of the following?

So@S CoTr® (ol DOIIPEI0 WD)

Options:

v "
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RNA and Proteins
RNA 208ain o

Chromosomes

, x B

Ribosomes and Proteins

0e5° 0 Jodoin e

3, =

Histone proteins

YD T

4, %

Question Number : 13 Question Id : 8135611773 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is not possible with law of purity of gametes?

0BT S5° DoddIr s Dare oG fag‘oe.‘bn T(O Fejo T8 B?

Options:
Alleles do not show any blending

_— asoor), DSe.rDm B0 Dodsed)

2 kinds of gametes in unequal proportions

, , 2050 RoCIr (e BRI DiS° eotot)

Gametes receive one of the alleles
, Po0Ir( Db 28 aie) ISOD) (Touoe
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One of the characters is not seen at F1 stage
4 x F1 036" 0grros” 28 w0 St

Question Number : 14 Question Id : 8135611774 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Chlorophyll ‘a” and ‘b’ show maximum absorption in

HBPBB0 ‘@'H0B b’ BIS® (0L TR WrH?

Options:
Blue region

;o DY) ok

Red region
5 % PO Frocha

Blue and red regions

i DL SOBCED DALY FrochAn

Yellow and violet regions

4 % DRV Hodoin o FeoHa00

Question Number : 15 Question Id : 8135611775 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Who proposed the sexual system of classification?

Tohs DS DOV DDA DO BT
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Options:
N. Grew
w0

Marcello Malpighi
% .

Carolus Van Limnaeus
o o LD T°D Bﬁ‘lcdm

Robert Hooke
‘ U"eag 0s

4,%

Question Number : 16 Question Id : 8135611776 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The most common microscopic motile asexual reproductive structures present in members of
kingdom fungi and simple plants such as algae are

?bog‘*w SoBasn ROV 208 TR Jod ww&ve‘? G0l A TG00, A £) 00w, o,

©P0Ns PAB\S o) T

Options:
Zoospores

(0D G Daren
1. ¢ &

Aplanospores

QB0 DG 2230
> % &
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Conidia

% §dosr

Hypnospores

4 % bﬁﬁlﬁﬁhmw

Question Number : 17 Question Id : 8135611777 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Escherichia coli 1s extensively used in biological research because it 1s

D3\0008r §G & & 7R D87 S’ IRyBorr EHAFAF . oS &b

Options:
Easily cultured

RO HBDo BODIO
1. ¢ 2

Easily available

, 3 ROOZOIT SO

Easy to handle

2 o QB(PoBEAS WLTo

Easily multiplied in host
©ABaS” WO BRSO Do

4, %

Question Number : 18 Question Id : 8135611778 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Transpiration plays a significant role in the concept of

3 S0 2 03S” DIV J*G IR ?

Options:
Cohesion — tension theory
RoRVORA ~ SIS fog’oé;ap

Vi

Mass flow
5 % RIUTD HIIPBD

Root pressure

2w DO DEDBW

Soil- plant atmosphere continuum

i - QW) TTD0E0 S0

Question Number : 19 Question Id : 8135611779 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Dumbbell shaped guard cells are found in

(LI ALD) (.m)ﬁms"d) G5S Sre) SV

Options:
Vinca

1. % JDoS®

Beetle
5 % DS (SO L)
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Pea

IT°D)

Grass

(gl

Question Number : 20 Question Id : 8135611780 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

S phase of cell cycle initiates

Seatd80e5” ‘S’ (9% BIN 360Dt ?

Options:
DNA double per cell

g WS £ea500¢5° DNA 3802 earbde

Number of chromosomes increases

. §arda0e R0adf DAL

Number of chromosomes decreases

_ £330 Dogdy e
3. %

Synthesis of Proteins
4w TOD Do

Question Number : 21 Question Id : 8135611781 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Choose the correct pair of cell wall digesting enzymes used in organisms to separate DNA

Sotd T Se2 SIBAWA 26w B DNA & DAoL & Ao doB &0 8

900R 2D 2BHBND TN Hdotdod.

Options:
Lysozyme — Bacteria

i OV'E So- ersbair

Chitinase — Plants

_ DEIR- d8) 0
2. %

Cellulose — Fungus

REUSIC R 280550

Lipase — Algae
- 3dwo

Question Number : 22 Question Id : 8135611782 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is a dual-purpose codon?

DeIeS* D& GLody VAL 2D §Trd?

Options:
1 % Uuu

, x UAG
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4 » UGA

Question Number : 23 Question Id : 8135611783 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In photo periodism the site of perception of light / dark duration 1s

5708 SRS’ DL For U7 57erdS e9S0HA tIraet ROH

Options:
Stem

1 % SToGa

Flowers

Leaves

DT

Question Number : 24 Question Id : 8135611784 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

Match the following

a. Nuclen 1.  Meselson & Stahl

b. Semiconservative DNA replication | 1.  Watson & Crick

¢. Double Helix Model of DNA 1. Frederich Meischer

d. Lac-Operon iv.  Jacob & Monod

$oBTD BBHEA

RS i DRSS & FIrS

b.  ©8o0ss DNA 3¢S i TS & 85

c.  DNA &g dauwrsr i, DAS Wb

d. o8 20T v, 2680 & W6
Options:

, w @—iiD), (b—1), (c—iv), (d—ii)
5 (a—iii), (b—1i), (c—ii), (d —iv)
3 % (a—1), (b—iil), (c—ii), (d—iv)
4 % (a—1), (b—ii), (c—iii), (d —iv)
Question Number : 25 Question Id : 8135611785 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following plant hormones acts as antagonist to GA?

$00TIS" D g, T6)S GA £ PGS I D BRAEA?

Options:
1. % IBA

2- \rf J‘XBIX

Question Number : 26 Question Id : 8135611786 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Melvin Calvin worked on which of the following?

208D 5°H¢S B W& D BFT?

Options:
ATP synthesis during photosynthesis

- Yoo 23 Roairsaies” ATP Dodixe &°

Water release during photosynthesis

w 8663 23] Voo (SaHe’ DS Do

Carbon fixation during photosynthesis

3662 23 Doddrrsoies” SCR DD
3.¢ @
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Capture of light during photosynthesis

4, ®

- $06e3 23 No03rrS0oeS” SToh Dofisreo

Question Number : 27 Question Id : 8135611787 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following does not help in early diagnosis?

0BT’ DO Saa@ DTG S €\ COR0?

Options:
Serum analysis

) .
- G0 DBV

r-DNA Technology
r-DNA o3ro3S0

; % PCR

ELISA

4 x OO

Question Number : 28 Question Id : 8135611788 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020

-

el

collegedunia:s

India’s largest Student Review Platform



Match the following:
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a. Chirepterophily

Pollination through squirrels

b. Ophiophily

11.

Pollination through insects

¢. Theorophily

111,

Pollination through bats

d. Entomophily

1v.

Pollination through snakes

S$08 T BSADGTAW:
a. POTEHY L GG (T DOIR0DE) 0
b. £3a3rnHd i, S&s® (o 200 DT BRI, 0
c. BB iii.  ADNTrY Gr(T° DT 0
d. DotrArd V. P00 TPDE DOIReDNE),0
Options:

o @—iiD), (b—iv), (c—1), (d—ii)

5 % (a—1), (b—ii), (c—iii), (d —iv)

3 X (a—=il). tb—w). (x—n) (a—3)

4 % (a—iv), (b—iii), (c—1i), (d —ii)

Question Number : 29 Question Id : 8135611789 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

Enzyme Tvype of RNA
a. RNA Polymerase-III 1. rRNA
b. RNA Polymerase-I 1. mRNA, hnRNA
¢. RNA Polymerase-II 1. tRNA, snRNA, 55 rRNA
SoBT° AR 2SDGIEN
0B RNA 6%o
a. RNA J’920068-111 1. rRNA
b. RNA J'®20068-1 1. mRNA, hnRNA
c. RNA J*®08&- 11 ii1. tRNA, snRNA, 55 rRNA

Options:

. x @—iiD), ®b—ii), (c—1)
, o (@—iii), (b—1), (c—ii)
, » (@—1), (b—ii), (c—iii)

4 x (@—ii), (b—1i), (c—iii)

Question Number : 30 Question Id : 8135611790 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Pectinisation 1s seen in

AP EAMCET 2020

28D DEEON S0 & E892r00e5° EDDotLA

Options:
Parenchyma
)G SePo

1. %

Collenchyma

Ao 55 g2reo
2.v @

Sclerenchyma

3 % G)&Strvo

Chlorenchyma
4 % SDOINVG Searoo

Question Number : 31 Question Id : 8135611791 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Polysomes translate

30 ew

Options:
DNA mnto mRNA
DNA &0 mRNA

1.%

Amino acids into proteins
. O e Fddven

*.

29D DCTA.
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Proteins into amino acids
2 2 o0 DS esdren e

mRNA into proteins
4 v MRNA 2 J&oen

Question Number : 32 Question Id : 8135611792 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Number of female flowers and fruits in cucumber can be increased by the treatment
of which of the following hormone?

D YD D8y e BRG" Q YL Vo] DBAD DTV Doy ?
Options:
Cytokinin

253D

1, %

Ethylene
5> & 209

Gibberellins
3 % 8&.}053&‘5

o T

Auxins

5, 4 TR

Question Number : 33 Question Id : 8135611793 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Match the following transgenic crop plants, resistant to pathogens

Column-I Column-II
a. Tomato 1.  Ring spot virus
b. Potato 1.  Insects
c. Papaya 1.  Pseudomonas
d. Cotton 1v.  Phytophthora

Sod 2:A0f DBDED ) LA HBOIW B VB STV 2 BotIW.

95-1 DI
[ A] (A
a. Arer i Bofi & DO
b. 20 oo . Seseen
c. eS"é‘Dm i, RArENID
d D3 V. 'V

Options:
. % (1—ii), (2—iii), 3—1), (4—iv)

, » (1—D, @—iv), (3—ii), (4—ii)

L o (—iiD), 2-iv), B-1), (4—ii)

4% (1-iv), (2—ii), (3 —iii), (4—1)

Question Number : 34 Question Id : 8135611794 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Heterospory 1s exhibited by which among the following?

$oBTIS’ DB D) Sl D2 DEBoLR0?

Options:
Psilotum
. RSO

Salvinia
v, 5‘&)5.2)013"

Equisetum
éaésa@.&)
3.

Dryopteris

) GOTRED

Question Number : 35 Question Id : 8135611795 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The main difference n gram (+)ve and gram (-)ve bacteria resides in their

T TS 208ak m A0S ergdosry 2000 S B0 &5° B0t

Options:
Cell wall

1 & hel-PelnPebl
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Cytoplasm

. Scagb's;ﬁn
2. %

Cell Number

3 % 58’3":01&&,)5

Flagella

4 x ST

Question Number : 36 Question Id : 8135611796 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is not related to t-RNA?

S0 T°5° DA t-RNA £ HDotro@daa TDH?
Options:

Reads the code

NoSSo WA

Bind to specific amino acids
DI 90T esATr0L odE ESELY
2. N e " =

Elongates peptide chain

DE Fendn TEIHIE B0
3. % o«

There are stop codons of t-RNA

4 » FRNA aing), oy §T) &0t
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Question Number : 37 Question Id : 8135611797 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

250 grams of which microbes. among the following. can produce 25 tons of protein?

208 TS° D Arg)APHOR 250 Trawen SEIRN, ©d 25 LYY TBS L GG
WOARD).

Options:

Methanobacterium
S eSO

1.9

Spirulina

Brevibacterium

BerSBOH

Methylophilus

i o GRS DOV

Question Number : 38 Question Id : 8135611798 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:
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Name of the Plant Fruit Family
a. Tomato i. Moraceae Rosaceae
b. Apple ii. Caryopsis Solanaceae
¢. Ruce iii. Bermry Poaceae
d. Jack iv. Pome Sorosis
SoQT VR BBDGTVAN:
A8, DM DOAD £)6002)0
a.  5are’ i, 200 Ban
b, e i, SO0IrNR T
. 09 jii. &8 D00
d 5 iv. I R
Options:

; (a—iii—p), (b—ii—s), (c—i—q), (d—iv—r)

> o (a—iii—q), (b—iv—p), (c—ii—r), (d—i—35s)
3 % (a—i—p), (b—ii—q), (c—iii—r), (d—iv—1=s)
4 % (a—ii—p), (b—iii—q), (c—iv—r), (d—i—r)

Question Number : 39 Question Id : 8135611799 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

[ ]
gcollegedunlaa
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The two strands of DNA are

DNA a3w$), 8ot D’esen

Options:
Similar in nature and complementary

| P06 T'D 20800 Beigroso

Antiparallel and complimentary

| o 2O 0ATeB0T 20005 RePESo

Basically. different in nature

s o TOEoT DSo & Bcso

Parallel and complimentary

. WATrodGo DO Vo PdSo

4, %

Question Number : 40 Question Id : 8135611800 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Allele 1s

odnrié :)SE)DD 29T

Options:

Total number of genes for a trait

. WS VEL0 OIS DVBOL WADL Vo

Total number of chromosomes 1n diploid set
5 % c:‘:soi)ﬂg@sé‘a 2050 §ArY A 208y
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Total number of chromosomes in haploid set

Ly DEVBSS'D 2ogdw £ 20’00 Roady

Alternate form of gene

4 o &S BROY) CIOE), HTGAT) 0 ErDHAW

Zoology
SectionId: 81356137
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 41 Question Id : 8135611801 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Read the following statements and identify the correct statements
1) Hormones of adrenal medulla are commonly known as catecholamine.

2) Catecholamines are called emergency hormones.

3) Catecholamine are also known as 3'F" hormone because they play a great role in manage
stress full condition like Fight. Flight and Fright.

4) Glucocorticoids and mineralocorticoids are produced from Adrenal cortex.

& $oB706" DB VIBTI) (For DISTOI) BotdoC.
1) ed9)8) od 6 e Aod Podwd HE) Mo SEEVWD) Botrdd
2) SBEVD) LSV FE) D Wotrdd
3) 58§ 020y 3F :ﬁ&‘&é&w 908D ©90cS) SeGEe A fight, flight Sudasw fright
BODSVNR Hot) SAE wgm@“ DAY FY SePFon
1) ArETHsTaNE, DDOS SHSONE BABZS) H) VA Wod, FoBLETTAN
Options :

All statements are correct

t o ) DIVT°L VB OV

Only 4 1s correct

5 % 4 Arrdad DO oIS

Only 1 1s correct

3 % 1 A0 VO AR

2 and 3 are correct

4 % 2 08050 3 DO oVHD

Question Number : 42 Question Id : 8135611802 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Arthrodial membrane 1n cockroach

£5°B08 Docsd es8EoeS SLssn
@ @

Options:
Connect thorax with abdomen

|y GO0 &B6INS SLOYW

Joins sclerites together

5 R0y 28 TS TS VB GDAIT DETON
2.4/ ©

Found on compound eye

5 % Poo3NE DSBS Gotrow

Helps to walk on smooth surface

4w PRV BB RNEIETAS &DA T oD

Question Number : 43 Question Id : 8135611803 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distinguishing feature of all chordates 1s

S0 2HUS” HrBR S w0

Options:
A Water vascular system

BODVCE DD

1. %
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A ventrally placed nerve cord
. &66 TG Goko

A chitinous exoskeleton

- 30 SOAD ey @?gbu&i»do

Noto Chord
"'.)Q; D030

AP EAMCET 2020

Question Number : 44 Question Id : 8135611804 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The most abundant protein in the human body 1s

2570 306085 B(BSMT 6 ARG B DD

Options:
Rennin

O

1, %

Retinin

, % O8RS

Collagen

ol §erad

Histamine

S LAY
4. 8 o
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Question Number : 45 Question Id : 8135611805 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statement 1s/are correct?

1. Re-absorption of water occurs passively i the initial segment of nephron.
i1. Nitrogenous wastes are absorbed by passive transport.

u1. Conditional re-absorption of Na+ and water takes place in DCT.
iv. DCT re-absorbs HCO3

v. DCT is capable of selective secretion of H™, K™ and NH3 to maintain pH and Na+ - K+
balance m blood

vi. Substances like glucose, amino acids, Na+, etc., i the filtrate are re-absorbed actively

306a7D8" 06 901 RS (For PodTe) Mool
1. PGTDE H0cH DD D0HBE T TN’ AW Ao AL AT IR BALD
i, DGR VoLt TN Ay aIre) & 6T HIGE” BALD
il PO 0P T St Nat+ Ba A Aaode s S0
V. QPR 098 TV Motk B SOy AT IR B
v. GPoR Nodde Trvaw H'. K™ dnboin NH; © S0rra) 8 Qoo argo 65awe° pH &b
0B0iw Nat - K+ 8000 dogaroud i

vi. e @oae” (o (PED, 0 esarew, Nat 908 D3airaL s Qs amn 306

Options:
1% (1) & (1)

PR (ii) & (iﬁ)
5 % (V) &)

All six statements are correct
. QD 30 DODT LD VO ONID
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Question Number : 46 Question Id : 8135611806 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Industrial melanism is an example of

BTG TS0 B8 &Troen

Options:
Natural selection

1 QS&@ 2080

Neo-Lamarckism
QO3 &rmabaa&

Mutation
, G\BIGDo

Neo-Darwinism

QO3> C:”@SD&&)

Question Number : 47 Question Id : 8135611807 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the common features of Saccoglossus, Cucumaria, Chaetopleura

1) Bilaterally symmetrical. They are triploblastic and coelomate animals
2) Development 1s indirect
3) Presence of water vascular system which helps in locomotion

4) Excretory system 1s absent. Sexes are separate

FETHR, HDIBAIT, SEYPT 0% DotoGol) FEPD LHA(VLFOW) MBotiod
1) 65:}% JTRI80 G008, Az r6sw SHAID
2) 988 Somddyd
3) w0 3509 $BAGoE dodod” &y
4) s SR &5 20t 250or B)en

Options:

o 1&2

Question Number : 48 Question Id : 8135611808 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When sex determination occurs after fertilization it 1s called

HOAESE ST Dors .‘Dg"dea 2600508

Options:

1. %
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Syngamic

DoTTaS

Epigamic

5 @ DTS

Progamic

3 % QS

Apogamic

4% 90’ 305

Question Number : 49 Question Id : 8135611809 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Statement 1- Human skull 1s dicondylic skull

Statement 2- The skull region articulates with the superior region of the vertebral column
with the help of two occipital condyles.

ROWAAD 1: Q7R YT B(SelaDS DT

DOWAAD 2: T DAD) A0D AI0E); 2 230085 Bot) S0GAN VN SLVAE

Options:
Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.
1 o DOUR0N 1 0dako 2 0 AN, RIINAD 2 NG 1 AL DY oY D36

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1
5 % 2e3t30:00 1 208050 2 20 AN, DIV 2 VAIEG 1 L DB O VS6E S
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Statement 1 1s correct and statement 2 1s incorrect
DDA 1 DB 200D, PIHBHHD 2 DB LOVIE S

Both statements 1 and 2 are incorrect
4 % 29T 1 B 2 DO OV S

Question Number : 50 Question Id : 8135611810 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect statement regarding skeletal system:

Sod T35 900020 HIDVL VowoBod) VO 57 VBT MBec.

Options:
Vertebral column formula C7T12L5S1C1

i D) a8 &d.)éu‘

Each coxal bone 1s formed of fusion of three bones — Ilium. Ischium and Pubis

i 29 §5y8 s 5%5%, BOTR, BIVTR), B AP AAVEY SVONE SV D60

Muscular dystrophy 1s progressive degeneration of skeletal muscle mostly due to genetic disorder
L SR8 G 00 w8 YOS S0ks G5 BriLS. A BAREIVM Vogbwod
3. % & -

Hinge joint found between carpals
B¢ 2060 S30y SJLIOGESL G Eotod
4. @

Question Number : 51 Question Id : 8135611811 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

In the development history of mammalian heart. 1t 1s observed that 1t passes through a two
chambered fish-like heart, three chambered frog-like heart and finally four-chambered stage.
To which hypothesis can this above cited statement be approximated?

308 D60 26650 AE) 7SN D) Dol A6 BB D0, Tocdd AR
B0 CE) TPEO0AD, JAPE AR Sy VS TFHEADAN Aol TRV AEVS Ar6dy

BodB08. 2 PIWDAL & i)g‘n@&béé) Botdood

Options:
Lamarck’s principle

v&r&b DT oeHeAd
1. & @

Mendelian principles

ol OD DTrochAD
R @

Biogenetic law

2O, BDEIS Do
3. ¢ @

Hardy-Weinberg law
358 - Da0I36 DTodH
0 @

4.%  ©

Question Number : 52 Question Id : 8135611812 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Kidney stone 1s

Sorgaocios” (0 TRy DD

Options:

1. %
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Blockage by proteins

BS e9¢oSOD

Blockage by fats
L) DTTO oW

2. %

Deposition of sand

Calcium Oxalate Crystals
5° 900 e5515E5 DyEsTew

4,

AP EAMCET 2020

Question Number : 53 Question Id : 8135611813 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Olecranon process occurs 1n

5,955°5 290 DS ¢ SV

Options:
Ulna

(Cle T
e 2

Radius

2, 99

Femur

2 % SooBII0E
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Humerus

202
4, % ®

Question Number : 54 Question Id : 8135611814 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Right and left sides of an embryo become apparent during

0640 Do HHE JBALD I EPITED DYy S0

Options:
Biradial Cleavage

' BLHVOD DEFo

Radial Cleavage

Bilateral Cleavage

3 v &53.: 6;15 ad‘#éﬂ

Spiral Cleavage
. PO DEFDo
4. %

Question Number : 55 Question Id : 8135611815 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following disorder 1s not correctly paired to the cause?

1) Goitre- In dietary deficiency of Iodine leads to enlargements of thyroid gland.

2) Cretinism - Hypothyroidism during pregnancy causes defective development and
maturation of the growing baby.

3) Diabetes mellitus - Caused due to hypersecretion of Insulin

4) Diabetes msipidus- Caused due to hyposecretion of ADH

8 $0b UG D BDIGS VB TERAD 28 THE?

1) ™owtd = OErdd &D:an SV GUand (od M8

2) 380 = (560 TH\D wee’ FIFTONERD DA JOD (61D NS’ D3,
) S ® )% Q

HAEL 602 D608
3) catr@sd DBLD — a0\DS ©BE TIW H0d D6\S0s

4) ot 88 BIWWED ~ ADH 00y FI80 S0 I6\6B008
Options:

1.3“1

Question Number : 56 Question Id : 8135611816 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In understanding different types of symmetry. the term used as principal axis means:

1) A flat area that run through any axis
2) Animagmary straight line joining two opposite points at the ends

3) An imaginary straight line joining the mid-point at one end and the mid-point at
the opposite end

4) An amimal having its body parts arranged m such a manner to exhibit symmetry

DG 6570 TRTVR VIMTrD BREWLD HEFd BLo O DI &HATHF .

P VL0 VAT:

1) @ efo & 7 pairtied dddvo

2) Dot I8 Borrjpy $9D Grotnt.d Jew d

3) 8 Godfo CVS), NG FoT) (36 odfo CIS), HdGy Fozrd) s00
EATOUIRGR) ALV B

1) 2odoned FRID) DEBHEAS 366 FrTen TS SALLT BB oo

Options:

1.% 1

(]

)

4.

Question Number : 57 Question Id : 8135611817 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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During gametogenesis Meiosis I occur in

D2 SE'AG DSADS” 20 LG 2EMS00A

Options:
Secondary spermatocytes and primary spermatocytes

0 BB0H BOSATS)Sen SOOI TGS JSITSBSen

Primary spermatocytes and primary oocytes

| TOWE WIS Se0 TSNS VordTS,Sed

Secondary spermatocytes and spermatogonia

. » BLAOD BOEArG)Sen BAKD HESH A\S

Secondary spermatocytes and secondary oocytes

| ésécﬁo VST 50 Q000 éséod) ot Se
4. %

Question Number : 58 Question Id : 8135611818 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Read the following statements and select the correct option
Statement 1: Lymph capillaries are free and blind at one end

Statement 2: Lymph does not flow in a circular manner

So8 DSLIDLEDVA WA DBADMA VAT DL (BTN

PIBIAWL 1: FNGHEIT VG w8 IS mrbcm)a‘)l SN~ :)U"é’ww

DOBHHW 2: TR0V BoAD DS’ PIIPBE

Options:

Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.

| DOOTO 1, 2 Totr HBQLDD, HSDHA 2 B0V HIBHA 1 8 PP D6
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Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1
- OIS 1, 2 Bote DBELA, DINA 2 VDG DV 1L DOADD DI S

Statement 1 1s correct and statement 2 1s incorrect
| DIBDAD 1 POTNIB, DABIAW 2 PO S°E

Both statements 1 and 2 are imncorrect
L DIBDAD 1 H08a%0 2 Bodr W8 o)

Question Number : 59 Question Id : 8135611819 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Who coined the term allele?

“030(f) DS So” B DG VAT BWD TRDY

Options:
Mendel

Johannsen

, % BEOND

Bateson

3 P3€J')5

Saunders

| o Focby
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Question Number : 60 Question Id : 8135611820 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Energy enters in food chain by

5556 VRS S 3§ DI%o DOTT™ M ?

Options:
Consumers

1w PV AT O

Producer

, o E3\IT

Decomposer

3 D&Qéiwmw

None of the options are correct
4 % @ RT°LD VOIS 57D

Question Number : 61 Question Id : 8135611821 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The Covering lungs 1s called

&0V 5580V 5} IS

Options:
Peritoneum
2085°Dao

1, %
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Pericardium
~ 2365‘20‘1)9

Perichondrium
HOsToc,00

Pleura

. RN S

AP EAMCET 2020

Question Number : 62 Question Id : 8135611822 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Urmary bladder 1s absent in

20T 300 S Do 2

Options:
Wall lizard
, w DEed

Snake & Crocodile

Dee Sdoiw 20T,
2. ¢

Chameleon
3 % SIS

Snake
4 % B
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Question Number : 63 Question Id : 8135611823 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

To measure the population density of monarch butterflies occupying a particular park. 100
butterflies are captured. marked with a small dot on a wing, and then released. The next day.

another 100 butterflies are captured. mncluding the recapture of 20 marked buttertlies. One
would correctly estimate the population to be

28 emv@%&mﬁ‘ 100 2036), ST SDVEVR) D08 8 08,0 w8 MBoxY tog)
28 56058, ShTd B 20w 100 S8 $DLLSL D) OB Lo’ 20
060 Bz hBoky) tg). DBRD. wans, & NrE DL 2T

Options:
1. 500

, % 200

. % 1,000

4 % 900,000

Question Number : 64 Question Id : 8135611824 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following bacteria has potential for nitrogen fixation?

So8 TOS" B3R Pbse er$B05°

Options:
Nitrobacter
2EurgS

Y
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Rhizobium
5 @ Qé’fi)oi)o

Nitrosomonas
VTR

Nitroso Coccus
, D0 8D

AP EAMCET 2020

Question Number : 65 Question Id : 8135611825 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Smallest part of Colon& Lacking mesentery 1s

Eerd & D) BB Mol & DD errio

Options:
Descending

. 29390572 et

Ascending

Sigmoid

brréané etio
3, %

Transverse

€9¢ eNo
F- o
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Question Number : 66 Question Id : 8135611826 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Botryoidal tissue is found in

So0® T°63¢5° e5°eraneS Sexreo SOAD £

Options:
Echinodermata
?BPSCO) 7

Voo @

Porifera
JODo

Mollusca

5 :nvb*’zj

Annelida
i DO

Question Number : 67 Question Id : 8135611827 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Mastigosphora 1s also known as

SUSTIRI I VEETo SN s UV E et

Options:
Flagellata

v TRE
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Ciliata
5 % Oaker

Rhizopoda
; x 0BT

None of these options are correct

4 w O 2T DBALIG 5@

Question Number : 68 Question Id : 8135611828 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the correct information regarding black lung disease or black lung

a) It 1s an occupational respiratory disorder

b) Occurs i cigarette smokers

¢) caused by long-term exposure to coal dust

d) similar to both stlicosts from mnhaling silica dust and asbestosis from inhaling asbestos dust

¢) Occurs due to lead poisoning

DRV EBBH TIHS Mowofoew) 0BT IS VBEDM YIBTVN MHochan
a) Q0 w8 050V BDOND TR RS
b) &Fef el 37065 ol
¢) &7 ARRE” IO TVAD D 3D T8S° LAV
d) & BB QRS GPY DONEDD SN BB, BTN GPY DOVED O
BT Y0 dod
) )
¢) B VAR DA P Seod

Options:
Onlyb & ¢
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2. &% b.c&d

3. & c.d&e

4_\./ H.C&d

Question Number : 69 Question Id : 8135611829 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In phosphorous cycle, weathering makes phosphate available first to

;’)"‘&3365 300305 &faDeS A0 A0 BRLD)

Options:
Consumer
1 % DO ERD

Producer
2, v ST

Herbivores

3 ® o) % e STV

D CCOIIPOSETS

4 % m()&')a?d)w

Question Number : 70 Question Id : 8135611830 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Choose the correct option regarding the following statements
Statement 1- Both Males and females bear a pair of short. thread like anal styles.

Statement 2- Only in males 10th segment bears a pair of jointed filamentous structures
called anal cerc.

06 PISTL HBoL) DBADN VAT Ho BLVYLW.

DOSIAD 1: @, POR YR Boter &rE- 26 2 T FoinSere) Gotrow.

(Y7

DO 2: 2 2HVS” A 105 Dot Aok ALY SHAD Jraswdomren

G0N

Options:
Both statements are correct
2SN 1 803D 2 2B oD

Only statement 1 1s correct
290D 1 20 DO OVIR

Only statement 2 1s correct

3 % ROVIAW 2 G DB VOIS

Both are wrong
g 23t 1 S0dakn 2 DB oD S°)

Question Number : 71 Question Id : 8135611831 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement(s) are correct regarding stem cells?

a) Adult stem cells have fewer DNA than embryonic stem cells
b) Adult stem cells are often present only in minute quantities
¢) Adult stem cells will die faster than embryonic stem cells

d) Both adult and embryonic stem cells exhibit totipotency

e) Adult stem cells found in bone marrow and embryonic stem cells found in blastocyst.

2070 68 Sere HBow) S0 TG 1B BOND PIBT) (DIWT) MBotsec.

2) ¢ rw Srrud” Dotk Jre STFVSet) 353D DNA Sire Gotraw

b) ¢ Sure Seren $8) 9 AT S’ Ardd Gotrow

¢) e rw PR ot P SErgot deddawT SAVaran

d) T Sore Srred 0K Dotk Jure Sered Totkr EETEND $OA Gotrow

e) G SO0 SETe w?g mge‘)‘“ar 200 S0 ST EPY R & V(30 VPHTOD

Options:
1% a.b&c

3%,,c&fe

4.% d

Question Number : 72 Question Id : 8135611832 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following diseases cannot be cured by talking antibiotics?

& 806 TUS" & TR DoBarBsy GE L S0 Sobdw Sobean
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Options:
Plague and Tuberculosis
o 2D J0dain Lo

Filariasis and Amoebiasis

, o DOBAIPHD 2B WDETDD

Leprosy and Diphtheria

3 % T B GBI

Whooping cough and Pneumonia
E'80h 5 B 02 dadr
4, % 0

Question Number : 73 Question Id : 8135611833 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ichthyophis belongs to

REATDHD VIB BIS BoBIA

Options:
Reptelia
QB T

Annelida
> % @0z

Mollusca

3 .':ue.)b“b
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Amphibia

4 =Falebinlel

Question Number : 74 Question Id : 8135611834 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following are not the derivatives of ectoderm?

30d T°0¢° D) eSS0 AIVE); GO\T) O ST

Options:
Epidermis of skin. brain. spinal cord, lens of eye.

. % e.r".J“,S aoémo. G, bml e )S, STod S8

Pituitary gland. adrenal medulla and pineal gland
 D0RTA (o), ©RBE), (0B, DAANES (od

Hair. nail. lining of mouth and anus.

L . T A0y, S TNk, Jrain)

Epithelium of urethra. urinary bladder. thyroid. liver and pancreas

g o S0rErEaDHAD dO8YaDAD, HITrTEFADLSD, FUPoNE, STSaDHEW, § 080

Question Number : 75 Question Id : 8135611835 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following in not the side effect of anabolic steroids in female athletes?

SEsBrid’ 360768 Dotood) Vo) SRS WLV DE AxE, SeurbEow.
& S0 S° D& 0§ 506

Options:
Increased aggressiveness

| x SDAL DA

Decrease the suicidal tendency

- e58) PB(O iﬁvbé REPT) Sfotdeidn

Abnormal menstrual cycles and excessive hair growth on the face and body

i S0 20SVUTISAN VOCHL FOGAD, WA DoLWSED DBMHEEEN

Development of clitoris

. SE57°00 9DIB Bocsian
4.8 = @

Question Number : 76 Question Id : 8135611836 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ratio of complementary genes is

DOYJPOS 20DV NISNE

Options:
1, @287
2 R 9:3:4
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3';‘,_69:3:3:4'

aw12:2:1

Question Number : 77 Question Id : 8135611837 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following animal group are triploblastic. Bilaterally symmetrical and acoelomates?

08 TES’ 308, asircs%, TS 306 B0 LG Bird 208) APHVRL SWYAW.

Options:
Arthropods. Molluscs and Poriferans

_ 80, Ao, 80
1.% @

Ctenophores. Nematods and Echinodermats

SY°G, DS, @QSéaée:P
2. %

Chordata. Annelids and Platyhelminthes

S°0er, DO, 3‘932?6&2}5
3.8 © : ®

Only Platyhelminthes

TG 0B 2B
4.+ °

Question Number : 78 Question Id : 8135611838 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Read the following statements and select the correct option.
Statement 1: Malarial parasite requires two hosts humans and mosquitoes to complete its life cycle.

Statement 2: Mosquito required for schizogony and man required for sporogony

308 PIITVL Voodow) WO L0 BarE BVDOC

DBSHBW 1: DGOAIT Do) 2D B 2O B35 WP BrELLD Tocd) LAGALLELL SHT.

099 PR 0Bt Sab
D0 2: pd'0A) FaneS” At bay FyFED ArdpAS” 2t

Options:

Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.

1. % 2T 1, 2 GoCr QBGDN, Radaal) 2 N0 R | 5 DO D0t

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1
2> % RITW 1, 2 BoCr AOIDHAD, PSR 2 BN Paxida 1 5 W0 JddEs S

Statement 1 1s correct and statement 2 1s imncorrect

3 A 1 VOAHAG DO0ID eI 2 VO 57D

Both statements 1 and 2 are incorrect
4 % eI 1 00D 2 Totr PO 5°)

Question Number : 79 Question Id : 8135611839 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Source of energy in an ecosystem

2TO06 D5 Hocd 333 aureo

Options:
. 8 * zﬁsTP
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Question Number : 80 Question Id : 8135611840 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Study of external features 1s called

BIPa0Pf LIV ICOTIDR0 BDOID F°YO

Options:
Morphology
1.« Q(Ar Qo

Anatomy

5> % €080\ U762 T°Q0

Taxonomy
. D050 TR0
-~ R —

Astronomy

. Y 70

4, %
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Physics
SectionId: 81356138
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 81 Question Id : 8135611841 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Camot engine develops 100 hp and operates between 300 K and 500 K. Find its thermal efficiency.

300 K S08odw 500 K 2L NIRRT 5"1‘:’1&5 odogddaw 100 hp GG WOL0A. NN, TR

SELDY Sr‘\‘nsbo(f..

Options:

. % 25%

5> % 35 %

3 @ 40 %

38 %

Question Number : 82 Question Id : 8135611842 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following cylindrical rods, made from the same material. conduct most heat,
when ther ends are maimtaied at the same steady temperatures T;, T;. where Ty, > T,

23 ::wgb»é‘ dabed, T8 Adu w8 N6 adtdw T),Ty; (Ty > Tp) © 36 08P\,
30 D APIT6 SG08° (10K &1 TTRo ) $68° AtR?

Options:
Length 1 m. cross-section radius 1 ecm

- TED 1m, oSS g0 1cm

1. ® -

Length 2 m. cross-section radius 1 cm

TED 2m, ©EES T 6o 1 cm
2. % - -

Length 2 m. cross-section radius 2 ecm

DD 2m, 9SS §FGo 2 cm

3. % =

Length 1 m. cross-section radius 2 cm

JED) 1m, eocoE'e T o 2 cm
4. < -

Question Number : 83 Question Id : 8135611843 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A 10 g particle 1s moving with a velocity 51 m.s™* and having position vector 107 + 6} m.

Its angular momentum about the origin 1s

107 46 m 33 063 H620m 10 g @03 o Seadd S 51 m.s™! eowd, Jare

Dot0d) HEAVIT €5 S §'raah Sivod?
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Options:

i g A k Is
, % —02k Is
s o —DER X2
4 % 0.4 k Is

Question Number : 84 Question Id : 8135611844 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of K.E. required by a satellite to escape earth's gravitational field to the K.E. required
by the satellite to move in a circular orbit just above earth’s atmosphere 1

Ara 9566 R0ot) By0tE Do) THVND (B2 IES WO P TT I V0
w8 BTS0 S5(6" ML BN (82888 Jods| Axyd Bedoe.

Options:
% 1:1

2. v 2l

3. % 132

Question Number : 85 Question Id : 8135611845 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A small square loop of wire of side ‘[" is placed inside a large square loop of wire of side L,
(L >> 1) . the loops are coplanar and their centers coincide. The mutual inductance of the
system 1s proportional to

8 ‘1" Zoadurr (o ) s Y L, (L >> 1) dadwrr (o 06 BB V)
GotrED. & Dot PR RSVINS AP 2BAK & Botit) Sog Dothaier sV &) av.
& D07\ GRS, O] DOSAEW &) 008 A dorS” eotod.

Options:

!
1.% L

Question Number : 86 Question Id : 8135611846 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A cube of wood of side 0.25 m weighing 12.5 kg floats on water, If the density of water 1s
1000 kg.m™*. find the depth to which the cube is immersed.

12.5 kg &r6aw, 0.25 m Zhadn mae 388 B33 2 2030 A Sdasriduod.

90, 83 VDA SR S°e . [R8 Fogsed 1000 kg.m™%]
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Options:

1. % 5m
> % 0.5m

3 % &M

4 0.2m

Question Number : 87 Question Id : 8135611847 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two resistances of 2 Q and 3 Q are connected in series and a potential difference of 10 V 15
applied across the combination. The potential difference across 2 Q 1s

Gocd A ¢sen 2Q .3 Q 336" 590 S 10 V TOI0HS eicsedon evd8otr. 2 2
D0 0 2065 OIS B350 dodd?

Options:
1,2 2V

2. 6V
3.v 4V

4% 8V

Question Number : 88 Question Id : 8135611848 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The acceleration ‘a’ of the vertical U-tube 1s

Q) U-H8d0 ains), S(68ndw a =

Options:
1.% &

Question Number : 89 Question Id : 8135611849 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The path lengths travelled by a molecule A i 6 collisions are as shown the figure. The mean
free path of the molecule A 1s units.

A 3 9509) 6 ©DrTVS” DO DPo TENHVR DS’ BrHLGed. BN A

LY AIE); A"y DG N[0 O AD.

Options:
1.% 7

Question Number : 90 Question Id : 8135611850 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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f

Consider the situation shown in figure. Initially the spring 1s
unstretched. When the system 1s released from rest, assuming no
friction in the pulley. find the maximum elongation of the spring.

D)0 6" 200680 Focse) GRY)D, 526" i B3R

-

Dorino #00é, SBDTE. $0\6° 066 FED &rdod, M)of k
aIog), (563 e $x08) 0dh?

Options:
mg

1% k

2mg

2.v Kk

Question Number : 91 Question Id : 8135611851 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The refractive index of a medium is given by (symbols have their usual meanings)
CIrRSHN CIE), S5 rgaw = (e T8 F(Erds OT°) 500 &) )
Options:
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Eollo

&N
1.9

EU

oMo
2.

Eold

€lo
3. %

E

£o
4. %

Question Number : 92 Question Id : 8135611852 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Two masses my = 5 kg and m, = 4.8 kg tied to a string are hanging over

a light frictionless pulley. What 1s the acceleration of the masses. when left

free to move? (g = 9.8 m. s7%)

my =5 kg &880 m, = 4.8 kg (0 Bo> GO0 8 1% Dot
28 (0RE 2B T JEEaTE. Totd) G0 DB\
SOTLL B3, & B30I ) dcBto dod ? (g = 9.8 m.s”2)

Options:

1 0.2 m.s2

) % 9.8 m.s 2
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3 % 50 m.s

4 % 48 m.s7?

Question Number : 93 Question Id : 8135611853 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the diameter of a brass rod is 4 mm and Young's modulus of brass is 9 X 10*°N.m?, find
the force required to stretch 1t by 0.1% of its length.

w8 O S TS 4 mm $)80%0 oo g 9 X 10'°N.m. &5 8D F6ED, &
TG 0.1% DotHRL STV WA dod?

Options:

o, 360 N

5, % 36N

, x 144w X 10° N

4 % 36w X 105 N

Question Number : 94 Question Id : 8135611854 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A resistance of 50 € 1s connected i series with a 10 puF capacitor and these are connected to
a20V,50 Hz A.C. supply. The total impedance of the circut 1s

10 UF 33589y o 8FH06 © 36" 50 Q Werd) d3-d. JB8 20,50 Hz » AC.
236 R $DFM. Bowk, & Hoaho ANE), Ade BIEEo Jod?

Options:
. #1215 Q

, % 155.6 Q

;3220

4 % 1955 Q

Question Number : 95 Question Id : 8135611855 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The moment of inertia of a circular ring of radius 15 em and mass 150 g 1s

150 g 35503, 15 cm :r]g:}go (0 H)T"S°0 Eoibo TINE), 2L PLISo dod?

Options:
. x 0.008 kg.m’

2
5 % 0.006 kg.m

5« 0.004 kg.m?

- 0.003 kg.m?
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Question Number : 96 Question Id : 8135611856 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If ;. 4,. A5 are the wavelengths of the waves giving resonance with the fundamental, first,
second overtones respectively of a closed organ pipe. then the ratio of 1,:4,:4; =

28 20rR FOSG 14, 45,43 6o G (i Sbommen SR TGS, A0,

Go¢iad BRTL) RTGI0 JGYHRVT™) 0. O, A1:45: 43 =

Options:
1 % 1:3:5

Question Number : 97 Question Id : 8135611857 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The half-lives of a radioactive sample for a and f decay 1s 6 years and 12 years respectively.
The percentage of the sample that decayed after 16 years 1s

w8 U‘C‘.Cﬁﬂ;"ﬁéﬁ ArT awe), @ B0k f LTV ™A S ST 6 RodByT)

208080 12 Ro38\Te0 Bad, 16 Dedd\00 68 18 3rae’ Ddd TEA

Options:
1 ¢ 37.9%
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5, % 87.5%
2 % 75%

4. % 50 %

Question Number : 98 Question Id : 8135611858 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the energy of mcident radiation for which electrons are enutted with a velocity of
2.5 X 10° m.s™%, given the work function of incident surface is 1.8 V.

1.8 eV 030R00haw $9A% w8 &% eDbBwoR Aod 2.5 X 10° m.s™! Mo dugTR0

DUWIEETAS STV DBVSG0 AE), 38 od?

Options:

. x 1937eV

2 ® 2eV
1957 eV

% 20.1eV

Question Number : 99 Question Id : 8135611859 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The electromagnetic waves of frequency 2 MHz to 30 MHz are used

2 MHz %006k 30 MHz 00 (0 DG 08 S60mokd &oaIrhodd T(0an

Options:
In ground wave propagation
B SGoff T[DIINS

1.8

In sky wave propagation

e90HDE HGors :J"?S:Jéa»e‘i"
2. ¢

In microwave propagation

: 8 0E B6ofT DB00"

In satellite communication

4w 6D O BoRGAS”

Question Number : 100 Question Id : 8135611860 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A tangential force F acts along the rim of a ring of radium. R and displaces the ring through

an angle 6 . The work done by the force 1s:

avéavga» R 650 G065 eotk) Do)l F e ’038;‘11’ W00 DB, s 6 oo
€000 g"a Zo$A0 BA. LAV, & Vo BID D dod?

Options:

. « FR?8
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FRO

4 v FRO

Question Number : 101 Question Id : 8135611861 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two tangent galvanometers A and B are connected 1n series. The ratio of their number of turns

is 2 : 1 and the ratio of the radii of their coils is 2 : v/3. If the deflection produced in 4 is 45°.
the deflection produced in B 1s

0ot EroBotd T exdoen 4, B e e SRVDWEAY. T8 b o[V 3:13@ 2: 1.8
80 TG0 Ay 2 V3. A6 0300 45° ©ond B & d61GN 036w

Options:
1. 8 45°

Question Number : 102 Question Id : 8135611862 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Two springs ‘A" and ‘B’ (kg = 2k, ) are stretched by same suspended weight. Then ratio of
work done in stretching 1s

‘A’ 508050 ‘B’ (kg = 2k,) 0920 Botd DYoo) 8 wdS FAdFan. T8
B B DY ANG

Options:
1. 8% 132

2-\;/2=1

3% 11

Question Number : 103 Question Id : 8135611863 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A voltmeter has a resistance ‘G’ and range ‘V'. What resistance should be connected mn
series to it. in order to increase its range to nV?

28 o0 Q006 G A0 bay V' ) $8A 638, o HOA n¥ § DouseedS
Doty DTG0 B3 SVDIT?

Options:
nG

1%

>, » M+ 1)G

. o =)0
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Question Number : 104 Question Id : 8135611864 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Vehicles are streamlined to reduce

TEPTORA) TPO°T S S G0 B @Qnﬂ'zc:“:)é SO EBIE?

Options:
Static friction

L N3\© 6e
1. % -

Kinetic friction

| ADE D066
2. % S

Shding friction

2PCOCD DG
3. % =

Fluid friction

DT D066
4. & .

Question Number : 105 Question Id : 8135611865 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A particle 1s acted simultaneously by two mutually perpendicular simple harmonic motions,
x = acoswt and y = asinwt. The trajectory of motion of the particle will be

28 S50 2 W8P Both) DEVYGAN VotolT™ ol NGV TPTS]S DOT DBRVT) 0.

X = acoswt 00050 y = asin wt. 8900, 8 S63.00) (JeDA) 263

Options:
An ellipse
. WS BG JyBa0

A parabola
> % WS DOIT LAV

A circle
208 Sy
J —iB

A hyperbola
5 WS 98 DTDVLOIN

Question Number : 106 Question Id : 8135611866 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The P — T diagram for an 1deal gas 1s shown in figure A A
where AC 1s an adiabatic process. The corresponding P
P —V diagram 1s

08 666, TAWPL P~ T D Gronde. vedd B C
>
f
AC 268 pdab. 38 ool P~V 5 D67
Options:
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P4 A
B (
psp A
B C
» V
2.
P* >
B (
> v
3. %
4
B ¢
> V
4, ®

Question Number : 107 Question Id : 8135611867 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Let F be the force of attraction between the earth and the sun. When the distance between them 15
increased to 3 times. then the force of attraction between them will be

Zrad S0dosn RPEND 06| e95Ge weo F. T8 G[ Gro) Sre 340 BabrT. T8 Vel

vsgn AL

Options:
| 4

1.4 9

Z_HF

Question Number : 108 Question Id : 8135611868 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electron of mass m,. mitially at rest. moves through a certamn distance mn a uniform electric field m
time t3. A proton of mass my, also mitially at rest takes time t; to move through an equal distance in

this uniform electric field. Neglecting the effect of gravity. the ratio t, /t; 1s nearly equal to

m, GO (10 28 JOTD, Fewd I3 worr 6ol t; S0’ 568 Daxd Egees” Foo crdo
Rairgodod. my, GO 0 8 TErd S Fend JorT ol t, 008 J508 Daxd
E8085" VAP (ro Yoireood. MBS Perard) DR t/t; AQE Wartr=___

Options:
-

1. % e

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

3/2
(="
Mme

4. %

Question Number : 109 Question Id : 8135611869 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Length of a wire at room temperature 1s 4.55 m. When the temperature 1s increased to 100 °C,
its length becomes 4.57 m. Then the coefficient of linear expansion () of the given wire 1s

(6 egga 3G w8 O T 4.55 m. eg‘oam 100 °C £ o0d &l F&) 4.57m
andd. A 3 T8 rg(a) devd

Options:

, % 5-021x107° K1

5 o BBBL X105 K

s # TEELXAS K

, % 8021x107° K

Question Number : 110 Question Id : 8135611870 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The resistances of a copper conductor at 50 °C and 75 °C are respectively 2.4 Q and 2.6 Q.
Then, find the temperature coefficient of resistance of copper.

TAS B0d TIrse e 50°C . 75 °C ;5(3 ST 2.4 Q. 2.6 Q. 900. o°h oaws),
e.gga QB¢ Mg Aetdotdod.

Options:
-3 -1
L » 4%x107% °C

5 % SHRID g

_Agxa1erToc "

3. %

6 X192 ¢!

Question Number : 111 Question Id : 8135611871 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A projectile has a speed of 6 m.s ™! at its maximum height. If its total time of flight is 8
seconds. the horizontal range 1s

28 PEDS0 S Hoirelerd Ando STLAW 8 VAR, LHBAK A8 B 5 & o
6m.s ™! oD, ) £BR-NATH :.1"533 SRV,

Options:
1. % 12m

2. & 24 m
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3 & 36m

4 @ A8 m

Question Number : 112 Question Id : 8135611872 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A ray of light is incident on one face of a prism of refractive index /2 at an angle of 45°. If the
ray after refraction at the second face grazes the surface. find the angle of the given prism.

8 5700 $60 V2 I3 RS AL DL 28 BVAND 45° Endw BAP HERNNA.

5885850 ST $6:0 HLLAD Totd BUrD) BV 3. & DA Erad =

Options:
1, % 60°

2, % 45°

4.% 90°

Question Number : 113 Question Id : 8135611873 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Following truth table represents which gate?

Sod a2 DS P G000 Aot &?

A B Y
0 0 1
l 0 1
0 1 1
1 1 0

Options:

, % XOR

> « NAND

3 NOT

Question Number : 114 Question Id : 8135611874 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electric field in a region 1s radially outward with magnitude E = ax. Find the charge
contained in a sphere of radius R in this region. (Sphere 1s centered at the origin)

28 DA%ANG’ DS £ DOJre:Aw a«sa»g DBorT &P 385" E = ax & Ardd) 8.
& HB3305° &odd R a=53°gan o AES” sdyddaky D80 Jod? (A e
Qredodog) ¢ GowyT)

Options:
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Zero
\ %mé}s.ﬁn
-~

> % 8maR?®

° 4mraR®

— naR?
4. 3

Question Number : 115 Question Id : 8135611875 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The magnetic potential at a point on the line inclined at 30° with the axis of a short magnet is
1.5x 107 J.A"L.m™. If the magnetic moment is 1.732 A. m?, what will be distance of

point from centre of the magnet?

28 T o) 0do WS LTS 30° Eno SR &) DB Dothae) ¢ AL, 08
TOAHS 15X 107 LA™ m™. 00008 o 1.732 A m” 0w, ©aF)od
Go@o Aol DoBrE) (1L BrGo Jod?

Options:
1 o 37 cm

> % 30em

3 % 03m

4 % 0.03m
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Question Number : 116 Question Id : 8135611876 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Maximum displacement of a particle of a medium when a sound wave of frequency
300 Hz passes through it 1s 0.1 cm. The maximum velocity of the particle is

300 Hz Jd:29ea(0 (o) 28 (D Sboriane” 2.¢ €ndw 0.1 cm (48 gégn-?:)l
JoBN, €3 560 185 e BVYHAW.

Options:

L 60m cm.s™ 1

‘I'..

> % 30w cm.st

3 x 30 cm.s

—4
x 60 cm.s

Question Number : 117 Question Id : 8135611877 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The self-inductance of a coil 1s L. Keeping the length and area same, the number of turns i
the coil 1s increased to four times. The new self-induction of the coil will be

28 SiSR CNE), (OO L. TE), PTUr{ul) rd ot St ot Do
TR Bl oW, & At ANE). PRS VDeREE Jod?

Options:
1. % 4L
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2. % 8L
s

. n T2K

Question Number : 118 Question Id : 8135611878 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body of mass 5 g executes simple harmonic motion with amplitude 10 cm and maximum

Lat cm from the mean position

velocity of 100 cm.s ™. Its velocity is 50 cm. s~

DOV SS SRV 5 g BO°D L w8 St ag), Ed KOS 10 cm
0B B2 i 100 em. 5™, 365§ Dockog) $o0) A6 3¢ &8 SR

Ghog), S 50 em.s™" odor?

Options:
5

1. %

2. % 5V2

3.v 5V3

4 % 10V2

Question Number : 119 Question Id : 8135611879 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The moment of inertia of a flywheel making 300 revolutions per minute is 0.3 kg. m?.
Find the torque required to bring it to rest in 20 seconds.
ADIAS 300 Foeren TR w8 (B80S 8o 0.3 kg.m* a6d wrdssn sOA
6:39) 8. 20 ADIVS’ D) I8 URSS S0 IEI8 I &), $208) oc. ?

Options:
1 % 47.1 N.m

3 ¢ 0471 N.m

4 % 0471 N.m

Question Number : 120 Question Id : 8135611880 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A dimensionless physical quantity

VD T FASTD

Options:
may have a unit

DAL $OA GoddHD
1. ¢ )

always has a unit

5 DYIDYET DA $OA oo

never has a unit
x DDYBOS DATEaA SOA oS>
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does not exist
- e98H0l) FT°AS U°F Go D

4, %

SectionId:

Section Number :
Mandatory or Optional :
Number of Questions :
Section Marks :

Display Number Panel :
Group All Questions :

Mark As Answered Required?:

AP EAMCET 2020

Chemistry

81356139
4
Mandatory
40

40

Yes

Yes

Yes

Question Number : 121 Question Id : 8135611881 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The relative lowering of vapour pressure of aqueous solution containing a non-volatile solute

15 0.0125. Then. find the molality of the solution.

W8 ErnR) DL iy D )3 0.0125 wond, & mron) 2werds ool

Options:
1. % 0.8

2' '\/’ 0.7

;% 0.6
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4 w05

Question Number : 122 Question Id : 8135611882 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction Hyg) + Iy(g) = 2 Hly). the equilibrium constant K;, changes with

Hyg) + lg) — 2 Hlg) 68 020870 orogian K,

Options:
Total pressure
0D EDAW

Catalyst
&30S0

The amount of H, and I, present
H, 00030 [, © DBS5°t20

Temperature

God (I

S Ardded

Question Number : 123 Question Id : 8135611883 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Pick an oxide among the following. which is neutral in nature

S0 7" B BT HE DBotod..

Options:

1 % Sno,

, % Si0;

3 % Zn0

4, v CO

Question Number : 124 Question Id : 8135611884 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following group is present in basic dye?

S0’ @ DAOD DBPITPAD F°6 Go20a085° Gotod?

Options:

1 % —203H
5, il
3,% ~NO2
4 % —OH

Question Number : 125 Question Id : 8135611885 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find Q in the following reaction?

S0 o[ 36365° Q A0 BeDA?.

H>S04 S p NaOH (aq)

>
NaOH (2) Q
(CH2)11CHs
Options:
SO:Na
(CHx)11CH;
1 %
SO;Na
SOs3Na
(CH2)1CH3
2. %
SO:;H
(CH2)11CH:s
3. %
4.
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SOsNa

(CH2)11CH3

AP EAMCET 2020

Question Number : 126 Question Id : 8135611886 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the product A in the reaction given below.

oxidation
H;C — CH; — CH, — OH > A
é,né r.‘bd?S?S‘ %ejh&‘)‘l;ﬁ.u A DEY?
uébsman
H3C—CH3—CH2—OH > A
Options:
.« HaC— CHz — CH, — COOH
> H;C — CH, — COOH

3 X HOOC — CH, — COOH

H,;C — CH — CH,OH
|
COOH

Question Number : 127 Question Id : 8135611887 Question Type : MCQ Display Question

AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

UV-radiation causes to skin

B0 » UV DSOETO DD ?

Options:
Photodynamic reaction
S"0d (I8S Wd(

Sticky metaphases
2058 2ETHD © Hoird

Formation of pyrimidines
3 % DODEDS © Bdoird

Destruction of hydrogen bonds between complimentary DNA strands

4 o DOJP0S DNA Sodire 06y ERD Lo T Do BaEo

Question Number : 128 Question Id : 8135611888 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following are considered as Newland’s octave pairs?

0BT e5° Arjeroliy RS 2SS DO DOMedorddeidy?

I- B,Al
II- C,N
[II- Mg,Ca
IV- 0,S
Options:
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. o LILIV

, o LILN

5 o B

4 % 1LV

Question Number : 129 Question Id : 8135611889 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For the reaction A (5) + 2By = 2C (g)- at equilibrium, if AH is positive, which among the

following facts 1s true?
A. Equilibrium constant increases with increase in temperature
B. Equilibrium constant does not change with increase in pressure
C. Equilibrium constant decreases with increase m temperature

D. Equilibrium constant decreases with increase mn pressure

Ag) +2Bg) = 2C) () mmga 96 A = +ve (qswéso) eod, & $08 TS’
08 d2o?

A ad688 e DB Boroso XA

B. 208 DONDY)E DTS MmSod’ D Ardyy Gotieh

C. &aTd Ho0d :omwfga fgﬂ‘oéa 3B00

D. 90 2o RRTID Dorogo B0l

Options:

1.5
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Question Number : 130 Question Id : 8135611890 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following compounds is chiral?

S0l DI YT VS B TES'?

Options:
3-Pentanol
3-S5

1-Pentanol
1--2o)3e5

3-Methyl butan-1-ol
. 37036 wr(S-1-4S

3-Methyl butan-2-ol
3-03S Lr(-2-86

Question Number : 131 Question Id : 8135611891 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

If A E, M and n represent atomic weight, equivalent weight. molecular weight & valency
of an element respectively. then the correct relation among them 1s
A E,M 00030 n 20 QAT D06:0°e0 G, éous PG00, €96PGa B0

SO ArDotsetd, SoBTHE" 18 ©aNM VotoEAw

Options:
1‘\-521‘4 = E'Xn

3 xNXA=M
4 # N XM=A

Question Number : 132 Question Id : 8135611892 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

ccly 1 . _ _
N,O; — 2NO, + 2 0 (g) 1s a first order reaction having rate constant

6.2 X 107* s7*. Calculate the rate of reaction, when [N,0s] = 1.25 mol. L™*

GEl 1
N,0 ——— 2 NO, + — 02 (g) ©R30 DB E3To8 B[ W), B HoSo

6.2 X 107" s oo, [N,05] = 1.25 mol. L™ e000c e56§ 360 fiedocsoct

Options:
. " 6.35 X 10™2 mol.L™1.s71

5 % 5.15 X 10™° mol. L™ 1. s71
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3 % 6.25 X 10™° mol.L71.s71

4 775%™ mol L5

Question Number : 133 Question Id : 8135611893 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the empirical formula and molecular mass of a compound are CH,0 and 180 g
respectively. then find the molecular formula of the compound?

28 D) A8 0erdS S‘O)&U" CH,0 S8a30 eeerdan 180 g ond, ool
wmé‘d)éer AOVDC.
Options:

1. % CoHy180q

, % CHy0

, o CeHi206

4 ® CZH4O?_

Question Number : 134 Question Id : 8135611894 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange the orbitals 2s, 3s, 2p, 3d according to their energy levels, on the basis of (n 4 [) rule

(n+1) Sa‘bar:}l TG WS R 25,35, 2p, 3d e&awgm T8 389 weg esmdau&.
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Options:

128 <2p <3s < 3d
. 28 <05 = 2p < 38

>

3 %28 <3d < 2p < 3s

4325<:2pc:3d.<:33

Question Number : 135 Question Id : 8135611895 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the false statement regarding resonance

1) As the number of charges increases, the resonance forms get more significant
2) Zero charge of resonance 1s the most significant one

3) Atoms with full octet resonance form are more stable when compared to the one with unfilled octet

4) It occurs mn conjugated systems.

08 A0y S Dowodod) 308 PHVTVES” B VB 5 W?
1) 5590 o2y S §Q BEADy rare gamage doored
2) rayj DR T8 Dy 0AIAS dravae (b
3) BR0PG B8 08y A0 (10 DEAFEPR 508 WOPY 98 58 Ay AT (10
DORTEDDRD S & OAD
4) Noabor) S§SR0S" A J0YER
Options:

1.¢ 1

[
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Question Number : 136 Question Id : 8135611896 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The latent heat of vaporization of water at 100 °C is 540 cal g™* . Calculate the increase in
entropy when one mole of water at 100 °C has evaporated.

100 °C 3¢ 8 aran@asd a0 540 cal g™ (swben ™). 100 °C 3¢ 28 3
B 2ran 5o B Jotied DAMWEL Jod?
Options:

4.15 cal. K™ Y. mol™

1. %

5 % 1.45 cal. K Y.mol™!

3 o 26 cal. K~t.mol™

4 % 170 cal. K~t.mol™

Question Number : 137 Question Id : 8135611897 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following 1s formed when water 1s added to but-1-yne i the presence of
Hg** ions as catalyst and in an acidic medium

Hg*" eoosro 68680, 69 organs’ aris-1-08 & 8 Rogwd 6" &
$06 D GY0) A0 A0YB0A?

Options:
Butan-2-one

t o m5®5-2-&5

Butan-2-ol
_ w5®5-2 -5.05
e

Butan-1-ol

5 x BTRR-1-40

Butanal
, m5eaa°6
e

Question Number : 138 Question Id : 8135611898 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Using which of the following methods. a Iyophobic sol can be protected?

208T°5° LAIrY'DSE Je5 D) DBGL 0B ENOIT Aot DG QB ?

Options:
By addition of oppositely charged sol

‘e .'.‘)58633 333 TS W SLYDL T
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By adding of an electrolyte

DE(BFNSR) SV T (o

By addition of Iyophilic sol

i o LArHdS JreS A S ANy

By boiling

00t S Ney
4, %

Question Number : 139 Question Id : 8135611899 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When light rays of wavelength 2A fall on a metal surface at an angle of 30° with respect to it.

forms a 2 order Bragg's diffraction pattern. Then, calculate the inter planar distance.

2A SO0rBG 10 5708 300D w8 &§2r 600800 P & &ndBvd 30° Emo dRP BN

00D 2a) 653 &0y DG E)Qw DOYEAD. 00, WOBOVVER GPOm) (€000

Options:
. 0.5A

1. %
2 % 2A

3. v 4A

Question Number : 140 Question Id : 8135611900 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following. will react with ammomiacal silver nitrate?

300" L DES Vs DEES & woy Todd IH?

Options:
1-butene

- 1-220°5€3

1-butyne
5 o 1BTNES

2-butene

s l-mgé.'ﬁ.f)

2-butyne

4 % PEAVAS

Question Number : 141 Question Id : 8135611901 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the crystalline solid. the radius of cation A 1s 100 pm. the radius of anion B 1s 241 pm.
Then the structure of solid AB is similar to that of

28 D88 WADTGANS’ SIS A GI0E) J§ga 100 pm, esdaird B ang),

T{IgaD 241 pm 00N AB DIDEER) D070 & FArD§R

Options:
1. % ZnS

> % Car;
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3 NaCl

4. % CsCl

Question Number : 142 Question Id : 8135611902 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

By sublimation techmque. which among the following compound can be purified?

ESNOD P30L T°O° 06 VA YTrOL” B WFDODION?

Options:

Benzene

1. 8 ﬂoéf)

Camphor

> SGJ"‘JOD

Ethanol
% AGIS

Acetic acid

i DS €550

Question Number : 143 Question Id : 8135611903 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following will show Tyndall effect?

306 T BoreS DI PEOYBH B ?

Options:
Aqueous solution of soap below critical micelle concentration

- Q0BG VO TPES 5T°) OL) D &) VENy B TPOE0

Aqueous solution of soap above critical micelle concentration

5 R0AF DOVO TPES 5T°) JE) D EX) Ve 2O TPOEI0

Aqueous solution of sodium chloride

3 % Jcavo §o& e grao

Aqueous solution of Sugar
4 % S50 20 oo

Question Number : 144 Question Id : 8135611904 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the number of moles of CH, required for producing 10 moles of water when
sufficient amount of oxygen is taken for combustion.

P O BAN0S B3y EDOIPAODIYE 10 Arene A 0L DY

e CHy 900007

Options:
. % 10

2 & O

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

4, %

Question Number : 145 Question Id : 8135611905 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Toluene reacts with Br, in the presence of sunlight to give

PGS SP0B DDEWES DD Bry & 90550HS D0 CB00H

Options:

o-bromo toluene

. % 0-g5°r €5°90

p-bromo toluene

5 % p-£3aoe ¢5°90

Benzyl bromuide

3 o D026 T’

m-bromo toluene

4 % M-S 50D

Question Number : 146 Question Id : 8135611906 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following are Doberemner’s triads?

308 a°Je5° E2)BH6 asten DD?

I- Li, Na, K
II- Be, Mg, Ca
I11- Ca, Sr, Ba
IV- Cl, Br, I

Options:

[, 11,111

1.8
2- 4 I.II,IV
3w LIV

4 » 1ILULIV

Question Number : 147 Question Id : 8135611907 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The molar ionic conductance of Ca®* ionis 119 S.cm% mol™! If the molar conductance of
CaCl, at infinite dilution is 271.6 S.cm? mol™?, the molar ionic conductance of chloride

1ons will be

Ca** a3wg), Arerb Loird$ irsd 119 S.cm?.mol™. Call, e, drerd Tirsd
008 OIS 68 2716 S.cm” mol™ wand, §36 wosrd ), Arerd atrds
TS dod?

Options:

, % 36.3 S.em?.mol™?

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

5 » 485 S.cm®.mol™!

3 38.1 S.cm?.mol™?

: 3 oogid
4 76.3 S.cm<.mol

Question Number : 148 Question Id : 8135611908 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many unpaired electrons does the central atom M., in the complex [ML,]*". have?

Given. the magnetic moment of the complex 1s found to be 5.9 BM

[ML,])* AR 206 DOATFEVY M ') 2000 VI ) ? T BAHAF) 0
gra0so 5.9 BM e R 060,

Options:

Question Number : 149 Question Id : 8135611909 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following molecules/ions does not contamn unpaired electrons?

AP EAMCET 2020

$08 TS 20008 VTR T BEDY/ VOIS B ?

Options:

Question Number : 150 Question Id : 8135611910 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following species have planar structures?

08 T°3e5" DGO Qo) £90 (OO DA?

Options:
CH,

1. %
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Question Number : 151 Question Id : 8135611911 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Predict the correct order of the extent of overlapping of atomic orbitals with respect to

their bond strengths

DOATED 8P, Lot Lo ﬁgg‘é &5 386720 Dol VATV DFEANY TS,

OO 53&3“3& SVDoG
Options:

O >SsS—p>p—0p

S—p >p—p >8-S

2.
5 % B=D > S—p > S8—S8
n p—p > S—S >S—p

Question Number : 152 Question Id : 8135611912 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is formed by the disproportionation reaction of Cl, with cold and

dilute metal hydroxide?

3509 D03 &> 3 & & §65(Cl,) w3008 150 Todd, & $oBTHE" DB Do \rd08a?

Options:
1 ¢ Clo~

5. o GI0,,

AP EAMCET 2020
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3 ® (1~

4 % ClOF

Question Number : 153 Question Id : 8135611913 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the metal that cannot be obtained by electrolysis of an aqueous solution of 1ts salt
among the following.

28 S VI THRAN Dol (B3 DerdA0S” €3 2361)":)‘1 Saird) SoDefan.
©aNK, & $08 THY" &8 &) WBosod.

Options:
Ag

1. ®

3 % Cr

4, Na

Question Number : 154 Question Id : 8135611914 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Why does H™ 1on always get associated with other atoms or molecules?

PB6 DOATEYHLD T ePUS H 0ardd QY)Y ALFEBSIT ok ot
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Options:
Tonisation enthalpy of hydrogen resembles that of alkali metals.

FEED 0TS Jorrdy vy d 6o ©arpEAS Jomdyd I otod

Its reactivity 1s similar to halogens.
2 TS RYS DITD STTjIVS SO €od

It resembles both alkali metals and halogens
. B0 00 B S R ' deotnod

Loss of an electron from hydrogen atom results in a nucleus of very small size as
compared to other atoms or 1ons. Due to its small size it cannot exist free

TEBS DOITEY Aol VTN Ho 20ANYE WHYD druse T ©d

ol W) SogSo B\EIBA. &8 W) So@So HVID B (W GokT .

Question Number : 155 Question Id : 8135611915 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Equilibrium constant K, for a reaction involving hydrolysis of sucrose is 3 x 10** at 350 K.
Find the value of AG at this temperature?

350 K 96 Ar§d a0 DFan 96(S 2EN8 doresan K, =3 x 10™. & &Jde 3¢
AG 20 (fedotdod.

Options:
. 970 kJ.mol™?

1.9

, % 9701 J.mol™*
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< » 9.7 X 10% kJ.mol™1

4. 97001 J.mol™*!

Question Number : 156 Question Id : 8135611916 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is the first man-made element?

$08 AresTo’ 6 VAL DB SOIEE BODHLIGD STresa) ?
Options:
1. % Ti

2. % Mo

3 % S€C

a.v lc

Question Number : 157 Question Id : 8135611917 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

During nitration of Benzene. the attacking reagent 1s

SoBI"IS" BB NG, DB WE(S” &re. B 5°6S0 AA?

Options:

+
1. NO
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+
, « NO
o NOS

. NO;

Question Number : 158 Question Id : 8135611918 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1onic compounds has the most covalent character

& 800 BOirAS A FTOS’, 3 ©) otdSot) I DB REPIA 6 &

Options:
1 % CsCl

> % NaCl
3 & LiF

Question Number : 159 Question Id : 8135611919 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Calculate the enthalpy of formation of H,50, at 298 K. using the data provided.
Sob BZroTR) GO 298 K 56 H,50, a3ng), e an:gass"gn (iedotsocs
S48, — 50 AH = —298.2 kI
S0,+=0, —S0;  AH= —98.7k]

03+ H,0 — H,S0, AH = —130.2k]

Hy+—0, — H,0  AH= -287.3kJ

Options:

1 & —814.4 k]
> % —720 KkJ
3 % —300.5 kJ
4 % —423.5 kJ

Question Number : 160 Question Id : 8135611920 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

H3 PO, 1s considered as

HyPO, & ™ 0GR

Options:
Tribasic acid

ST°6 22080

P e

Dibasic acid

)y BIF6 e
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Monobasic acid
DET°C e300
3.¢ “

Tetrabasic acid
=0 e300
4.% % =
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